EARAROBEEIERT — 2 N— IBISH —F

2016598240 (£) 4mEBR#5H

Pl SR 2% KB (ETE] B

‘ [Riz] ¥ ‘ [RERBE] — | Z (%) 180N A=

[~®%] 1 % :5,000,000 @ ~ 23 :2,000,000H ~ 33&:

1,300,000 § 4 & :750,000 @ 5 7& :500,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
5y = 4t 2 | C. bx—b 1:48.9 7-7 34.5| 83.1| 5 446 | SHBEGL (FR)
1|5/8 AT 174 54.0 (=) 14y | (B) FrOy rTT—A4
LNn—ErTv— B:N=Tx7krTad J—=HrTp—L
TN 2 | BEEX 1:48.9 7-9 34.3| 8.2 6 452 | ETEBE (ER)
2 3| &H/ T # 54.0 (7€) o |NEES
RN—E>Tv— B:RE—TNLT7 HEEMFBEH /77— LI
o2 | K& 1:49.0 3-5 34.7| 82.0 | 7 468 | WIS (RR)
3lgl14/ 171 —2 54.0 (7€) o | %=77-x
R:F4—TA4>N7 b B:X7—ERy— e
SL—4 # o2 | JIIEEH 1:49.2 35 34.9| 79.9 | 2 | 460 |BEEM RR)
4 4|7 54.0 (1 1/4) (-8) (%) G1L—>>7
RGATAT v — BIT4—RTNELT(—F () #HBA-—KL—Ya>BETr
o — ¢ HIIEF 149, — . . HAfiEE (FXR)
5 5|8 =z o2 2 1(34/94)3 3-3 35.1| 78.8 | 10 :1_882) /J\;Hi;?:
R:wyVgddyk B:7v—L ke
— = FHEBZ 149, _ . . e A (ER)
s Y 11 HY—=33I /) 2 54_0% 1(429)6 7-8 35.1| 75.7 | 3 (4:342) el
R:yO7%x B:4M47VI— b 759577 — I
— o N FHE : - BEER (EXR)
7 o| FAILT Yy KT o2 A 1.(429>.9 1-1 3.1 70.2 | 8 <4_723) T?%JIE%;
LTITRAFSAIN B ForTe N Chae]
5 # o2 | BRE 1:49.9 2-2 36.0| 70.2 | 9 460 | AHME (RE)
sWlg| T aF Y- 54.0 (745%) () |FEEE
L:T7 RIS Y L—> BT T7IYhE HESHE 4TV yINL—
= : 4 2 | RHE 1:50.0 10-11 35.1| 71.5 | 14 | 428 | &R (ER)
9 15| 77>/ =R A51.0 (5 €) (-q) |BEER
RAN—3I>Th—L B8/ T57— FH XA
AN IR :50. = . . IR = (FEX)
10X 10 JNILTY X o2 Ji 1(75?:5) & 35.9 | 69.1 4 ?(1”2 L2
L1 hT—bEY B:T7—-FXETH KIS
RIS . # o2 | M FA-A :50.0 10-9 35.4| 71.0 | 1 486 | HHET (BR)
1EW 7| 512> 71>b 54.0 nF) (o) | KAKIER
RN—5—-2y7 BE14O Fv 2T RS
. 4 2 | HAILELE 1:50.3 12-13 [ 35.2| 68.5 | 13 | 488 |HARE (RR)
12/5/9| 7B 7LA7— 54.0 D) (44) | LTI
LNnN—E>Tv— B:TLIvXTFTT— SZvae]
= S 4 2 | EPRE :50.3 15-13 35.3| 68.5 | 11 544 | F9ILUBA (EH)
13(7|12| 7 7L T7ET U = 54.0 ) Lo |FREHINY
R:Er/o7oq4 BI—FILAR J—HrIr—L
> . o2 | JIERE 1:50.5 12-11 35.6| 65.7 | 15 | 456 |FEEFME— (i)
1411 | XTFNTLY TR 54.0 M o) | W) $5TL k95T 5747
LT w TRy b B TARL—X P e
7 2 | AHEH 1:51.8 14-13 36.7 | 52.3 | 12 430 |/NBERZ (E#)
150213 Y7F AL 7 b R ®) Gl | ) HBEL=2A-2
LA TATv— B3 IAvTFY BRT77—LA
@ 21 L
E»y) 47.5-35.1
NA> 24 L | 12.8-11.3-12.2-12.8-12.3-12.4-11.7-11.4-12.0
® 1—F—@EBIERL
13—7F-
2ol=5"=
== 2,6(5,4,10,14) (3,8,11) (7,15) (1,9) 13,12
43—+ — 2,6(5,10) (4,14)8,11(3,7) (1,15) (13,9,12)
[ N5
B 8 1,030 714K 3-8 1,430H e E 2-5 2,750 JEE 3-8-14 16,110
8 B 8 370M 8-14 2,120 B = 3-8 4,230M JEH 8-3-14 79,840
3 300H 3-14 1,990H B H 8-3 6,640M
14 370M

ABICOVWTRDTEEERROODE. TR LIV,




